
 1
ISO 11154-E

Kit 187212
VOLKSWAGEN ID.Buzz Cargo, 5-dr Van, 23-
VOLKSWAGEN ID.Buzz People, 5-dr MPV, 23-

5565619001

This kit is only for vehicles with fixpoint mounting.

KIT
1

1

2

1

Safety

KIT
2

1

2

1
Safety

Kit 187211

80 km/h
50 Mph

Max 130 km/h 
 80 Mph

10,5 kg 
21,1 Ibs

Max: 150 kg 
/ 330 lbs

x1

30113

311
x2

004
x2

x2
30150

011
x1

012
x1

443
x1

444
x1

x2

x2

M8x75

51343

M8x30

x1
50229

x1
50229

311

50603

x2
004

x4

442
x2 x2

51343

M8x30
x2

M8x40

FOOT PACK
3

Instructions

2

x4 x1

EXT
PAD

761
x2

x1



55656190012

443

KIT
2

LWB - Long Wheel Base

Kit 187211

011

761
M8x75

004 004

311 311

M8x30

004 004

311 311

M8x30

M8x30

M8x30

M8x75

444

012

761

EXT
PAD

EXT
PAD



5565619001 3

1

2

x6

x6

3

M8x30

M8x30

M8x75

x4

8 Nm

M8x30



55656190014

4

Instructions

2

2

x2

M8x75

8 Nm



5565619001 5

443

KIT
2

SWB - Short Wheel Base

Kit 187211

011

761
M8x75

004 004

311 311

M8x30 M8x30

M8x75

444

012

761

004

442

004

442
M8x40 M8x40

EXT
PAD

EXT
PAD



55656190016

1

2

x6

x6

x2

3
8 NmM8x30



5565619001 7

4

x2

8 Nm

M8x40

4

Instructions

2

2

x2

M8x75

8 Nm



Thule Sweden AB, Borggatan 5
335 73 Hillerstorp, SWEDEN

www.thule.com

 © Thule Group 2025. All rights reserved. 5565619001

info@thule.com

A

B


